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BRE—MEERFET - FL, FEEERE . AMNEFLEBE—TF :

(& 1) ( Hamel 1905 )

C(EHD

BEAEZHERF -HEE -

P BRFAMTARESRHLHE Zorn 5|18 > FkRAMMEH

(i)sk (ii) o

4F = {BcV |B@gH®BY )
Fxg¢; (F,C)B—¥F4%,
(Biyie ABFh—2F%

H Vi,V , eeeeee ,VnEU Bl»
&N

EB%F?& s 3106/\ D Vi Va EBflo
TR T . Ve BHEB T
R UB) - g

1EN

Il

of
>
[

> UBy €F
IEA
ik Bac UB: 83 UB: RAWER
2EN aEN

1 Zorn B , A Kk TK B

RAFE<KB >=V
AR ,JveV Bu { v} &&E®Br
>BuUu.{v }eF
HBCBU{V ]} e
“BRYV#— (B K

.« 22 .



R £F LA F -
Bl : SRR Fe

B2 : ZHEIXAPMESEF (t) ={ ac+tat+- +aato|

aieF, ne N}

{1,
LLdimF Ct

t2, ceeeee , b, e } R —HEEE Bt
J =%

Bl 3 : fb IR R FBM 1 A B B8 Q & & =5 R
AR 2 % R #EFY :
HHl , IR BEEHK r1,12, o ra

=) R =

{2 qiri|lqi €Q}

i=1

o X1 =card R (1)

= Cca

rd’E' qiri|q; eQ }

Tl

= cardQr= Card Q = g7 — <«
RoRmB ey  BEREH—MEEHNETESH o

Bl 4 BIIERH -
}

R¥ = { € @ >aei | 8s& R, N

Ler=(1,0 , 0 , «+ooe )

€z = (0 , 1 , 0, ccooeeyenenee )

ea=(0, 0 , e 07 1 ;10 4 s ) (55 n (B4
/1)

o 93



Bl e1,€2, - , €, e FERYHEMEEYT > RYNBER
MR B (1, 1, ) ERY ¥TERRR EREES
REMEEES FIOLEMERZR "B —EKE -
EERMESHERG > RMARETLERMEER ? 27 LA -
R :

(EE 2] BB »B: RA—RETHMHEE »

A card B, = card B2

DR r RABRMR o B Steinitz BREE o

HAl, 4B ={va} ,B:s={us}

HEEMEE .

Va, y,=23 Gy Us

HAREERE s = 0
HEHUARu(e,1) u(e,2) u(e,n)
EH ¢ B xNBz

Hep 6 ( Va,k)=u(e,k)

VecR, ,k=1,2, - ,n(a)
BMEEERTEEBE uw, BREBE u( ¢, k) » WRHRE
ERARY ¢, Gap BEAF—@Ex0 , ERRERKRG | &
T A, @ap B Ve HWEEB 95 AEAE » MR EME aw =0
Al vehBEEEREE B, HAEHRR O , ERATEN
y B W EB: HE AEAER 1M | ( BROHBEHBHLE
&) o
S8 RBLRES
= card B2< card By x N = card B:- Xo = card Bx
A card B1 < card B
. cardB; = cardB: Wy

. 24 .



BETEEL , 2RMATLUERE —EAESHEY (BiE) BESTE
M—EEEMBEE, £/ dim Vo
BEFVE—AELM, dim V=1n<o»
(1°) MRVEEFERHEN , dim V=n< o
card V = card F» = -{ pn, PHEE ) ol o5
. card F, card F > Xo’
(2°) MBVEERMHEY -
4B={vaelaeSHEVH-HEEE
V={2avValaa cFREFBERE 0 }
HARERREZH %,
A cardV =card { 5 @aVe| GacF REERBERS 0 }
—card (J{ ( @) €Fs | @« A& n BRSO

n=1

} o

_F card{(a:) €F| GRE D @RSO0 )

n =0
#Zcard F <o
A card V = card B-Xo = card B = dim V

# card F > Yo
B card V = card F- cardB -Xo
= card F- dim V
# 5| F = R
card V=X 1-dim V
2% &8, M8 e e
(i) Rgq: X 1 =card R = cardQ- dim R

= Xo - dim R

.« 25 .



. dim! R = )4

(ii)R ™ :
R4 dim R* =n VneN
BEEMEEL dim RY = card N =X, o
HERAR . RMEETLUEBNFER "—EFSH

L2 = { (%) €R ¥ |n'%°l [Xal? <oo ) WM B ER

£a1 L WHcard Rv =X Ko _ (gf ) Fe b
=X:
fmEk card RY¥ = X, - dim RN~

»o.dim Ry = X,

(i )R¥= { f : R—R }
X: =card RE = ¥,-dim R &
;. dim RR = X,

(iv) BESESMN :

CCa,b)={(f:(a,d)»R| f @)

R(a,b)={f: (a,b}>R| f Riemann "% }

Lca,b)={f: (a,b)—R|f Lebesgue A[f }

Sta,b)={f:(a,b)R|fHEMBEKH )

XCa,b)={f: (a,bJ—R | fH— Borel &£ A H
BB )

BV (a,b)={f:(a,b)—R | {HAEREE)

ICa,by={f:(a,b) >R | f FEREEH )

C*Ca,b)={0:CCa,b) LR |oBEHE(BFR)
P B )

- 26 -



B card R) = X1 dim R(t) =2, Xo = Xu
fiStone-Weieretrass & :
card C@,b) < card {(f,) |f. €R (t),n =N}
= Xo -card R(t) = X,
8% card C(a,b) =41 =dimC(a,b) <y,
& fa(t) = |t|42, te (a,b), 2>0
gl {f2l2>0}Coca.b) LiglBy , (BEE)
> dim C(a,b) =X, ‘
A, dim L Ca,b) > dim R'(a,b) > dim C (a,b)
o Lo

7 8 B IR A T

card { BlBc(a,b) g Borel £ } = X1~
=card X (a,b) =X.
> card S(a,b) =X
card L(Ca,b) < card { (f.)|f,eS(a,b),neN }

= ¥
il ( HEE#BCG,b) Tkl ) B3 :
dim L (a,b) =dim R(a,b) =X
HRFABRENOSE - THURE :
card I (a,b) =X

F|F C.Jordan By —fH ® » % card BV (a,b) = :
= dim BV{a,b)=1X:
Riesz RBP FHEHFRMC* (a,bI=BV(a,b) (KRHER
®) e
PrEl dim C* (a, b) =X.
At dimC (a ,b) < dim C* (a, b)
RET-—EHBEHAR RS HAHREEBGRE G o

027-



(V) ieEBHER Y ,RATUE-EREZHREREHN
MEEWRRY - RR—EEAS , KB SHEHRY (—
EARE , BBEHR X AEBRR)

BEFree(S) = { f : SR | REHRME f(s)x0}
BRESEHABZRE .,

1 s = a
ZE& fa(s)={

0, s xa-
Al { fala €s } B Free(s)—MAEEK,

ERHESf e Free(s) > f = i’ fa (s)fe , ( BERA)

At dim Free(s) = card S =)
ERETURBAESHERH S !

(vi)fERim . /RME :
card V = dim V card F
BEAV=F , dE5—@ELH
MEMARY HFHRM, dim Fe R—gR d
SkBFHER
.. k? = card F¢ = dim F¢. k
HE ,UEd:
Ed>X B , k<dimF*
At dim F¢ = k¢ = (card F)¢
=% Kothe (7JP.75
g dimV =d > B,
HVr=(f:VoR| {BREEK)

e 28 .



RVBHESH (HEC* a, D BERZEFZED)
BHBBHV* =R (HERE)

A dim V* = dimR ¢= (card)? = 2¢
=>dimV*>dimV

BiLARIE C* Ca,b) A FRAG KBEHT o

(II) IEa* # g ( Orthogonal Dimension )

BEEBL » RMIEHROSH REIEH R RO T HAEZE - A
Hilbert ZZfdh e MA< , > R KAPHAK o

#ER® o, FIf Gram—Schmidt SAE 2 /L » 7 LUHRE R= iy —
MERE v, o Ve b, BB < Vi, Vi>=06:i;,Vi;

BB R B— st #EE 3% ( Orthonomal basis )

EMRAE R Hilbert X H e , B SR AT RMBRE -5
HEZHEEME , AFA Zorn 5|H , BRMAMEHEN—K , 7
LA B —EE K REBELKEB= { va } 25k, FFourier B »
:VveH v=3<V, Va> Va

H Bessels R&ER ¥ £<v » Va > |2 NIV, BBV R
H BRE

BEMEEww BEZREVEME, BFHE BHk#> ke @B
Fourier REAZFEEH - (HE . ThiUEBETTHERESH
1, 2% Halmos (4) P.17 ) o
BRMBER 7 —BEHEE , 54
CE®E3) + FM: M. GHEHREBRKRE B K
A card M1 = card M, '
CEH) :4M ={vy, } ,Mo={u, } (&R)
Va, Va=§.< Va,u)g>

< Ve, WSRO0 HRETHME

<29 .



SHEB u, Bu(e,1),u(e,2), -
Ve, M BEAXBELK

Uy REEEBEFAN o

iezad 3' < Verup > %0

“ug BEME (A, k)

FELER 2, RIS —ESE M x N2 M. #5855 o
...card M: < card M, - X, = card M,

[B] B card M; < card M:

SEEBRE -

RFEHHilbert SMMETHER CH — BB AR BE T K&
BoEADim H o ity —MEARBEX KBS —MRBETE -

RS rEMBEE>H 4B ) , fFUDin H< dim H, L5k , B
REEFRRME dimH < ocoff , Dim H='dimH o F A4 fRHE Hilbert
SR, AR ERS HHHMIEE , RNbESE— LR S BRTH
EFEME - 8% . HFTEHGSEE

(i) REEEZEMV:, V. ¢ RA# o dim V. = dim v,

(ii) @ Hilbert 23 H: ,H: EfE R # <~ Dim V.=Dim V.
HEGE—ROSVERER, FESHERAB AR EETHH S B
CERRMAREREESHAATHEYE  ENEF—ETHH AT
T4, BARTULEEBNEREEETEL , BABBHEEANA
BEGEEDFHEEIRESEL, S8V —ESHBRETHEM ., &
SVEREEMEE , EMOEERMLRMAC - (XX, BERMHK
REHEEEECEFHRETETHEZME) - ERENEG L, BB
<<x..»>,<}’n>>=§‘o Xa2Ya

B=1{ € = (0. T e ) IneN}

BE L M—ERWELE . 2R : Dimls = o

° 30 -



ﬁrﬁﬂaRiész—Fisher EELA L TEEEAL: = f : R>R |f|f|2
<oo } (KA EHHESRZR LAy Lebesgue F 5 ) , flDimL.=
Xo B e BRAZAH 2R ?

ZED ={ 2 q.e.|0.€ QREFRE>0 , n eN }

L oo n
Vve 2:, v=2 <v, e >e.=1lim <V, ex > ex

n=1 g )
%o
V€>O,"9noeN E} l|v—£l<v1 ex > ex || €2
. 2o
X dqe, k=1,2 Mo D T | <vied <e/2
Bo

%d=k{leek eD

FME=SARSER, ZHE Iv-d| <e
ie: ve-p'
Wit D=L
2. B—wHiamn
BEAN  BUBEE ARG AD L. 5% EEFIEE, 1§ L. XBE—
fDim H =%o fyHilbert ZSf, { e. } HREM —MRBHETE
R BRI o
ie: Dim H=Xo =0
HE—EHEAERIE?EATE, R® RE—@EAT , TREERED
HRARILT » RFEEFIR :

CEE 4D : £ HE— M B Hilbert 23y
Hl FDim H = Xo. o H & # |

(FH) 4 DRHH—EUERETE . EDPREHEKIMEE
B(HEERLEE ) , BFA Gram-Schmidt 5 #i @ 21k
1@?”'_‘;“['"—]% { Va } rﬁq:'( Vi, Vi ) = 0ij, %

31 .



VEHRRAE v. BE , Bl vED g mEHEEH , X
3d, €D 5 do—>vV
MRS EEER BERER -
ldafi2+ [ VI[Z=1da=V[?=0
Jo V=10
B [ v weme s Wiy erwsn I RH—ERBELE
Dim H =X,
EW AT LABR AL, th B — (B FT AT ZS R - T AR fo) RS (8 4% FR A 69 7T A
Hilbert S &R SHER#EH o
B4 3E DimL. =X, » 3 dimL. %4 R ?
EZEB={fcL,|f BREZ—-HHBEARE}
FiBfRx. cREOKBHEBHERR

Bl i e

BRfel, » ( [IfI"=0)
MBREEEBIH > (ELKB>xL,)
dimLcardB=X,
R M 75 $E R 4 Hilbert 2SR » DimH » dimH ¥ R —EH % o
BHB— ER MM Hilbert 23R »
B={ i} :ABH-EREEZTE-
BHH={Zav |I<G>CR BESTHETS0 }
BRPEEAELV B TFE  OREEEANTELLER1IH1LY
= 4
& card A= Dim H = X,
Bl X = card2%=2X =X,
I8 card A= DimHXX,
Bl X >card {AWOERFE}

c 32 .



{AWn@E?%?ﬁ}

[l
u M8

cardA « X, = card A

0

Il
Il pag

n

4
BERX <card A¥ = ( card A ) ’= card A
X = card A=Dim H
A i card H dR d dA= { * Pim B = Ky
card H = car e car = card A =
; # . DimH s DimH> ),

B R & DimL, = X, » BTLL card Lgﬁxl
?E“EUE@&%‘EEHQE MEES PR card HBRAR ERBER » B

1 ’DimH:Xo

X, « dimH= card H = {
Dim H » Dim H> X,

(i) B cardH>=> X, >
dim H= Dim H = card H

(ii)FcardH =7, »
dimH » Dim H¥HF Xo. » X. REFTEE% -
8- DimH<dimH
% DimH=1X,
dim H= Dim H= card H
#MT > EDimH=1, SHRERIT? EATE > WEH L,
Bt 2Bl F o £ Halmos (5) Problem 5 » “SHFKRMAEEE— O

=

EE 5 : ZHES Hilbert 2SR »

B

Bl DimH= X, =>dimH=1X,

1
L iqus teE—" nGN} s teR
n

%Jz:{q:a | anQ’ t 4+
n

B card]J, = X,*VteR » eard (J.NJ, ) < oo » VS t

BEWQEER —F : g » Qs sree s Qo 2 — cveee
« 33 .



MEDMH=2, » 4 { % | BE—&EELE

. y (o]
& v= 2

n=1

1
}e%fH (48 8 Bk > Bk )

V= 2 iz eqn e H
anJln
card { V¢|te R} = Xu
BPAREFEH { Vet eR ) BEBILREEFR !
Kk k 0 o4 Kk 1
0= T a,Vy=.2 a; 2 =,"%= 2 I 3, a;€q
A 1=1 i=1 iq.:eJnn i=1(ln€tin
Bixl,JaonJo REBRE . Mo, J . BERE,
>Ja - Jo BREREKE, i=1,2,-,k

k

S Jo ="U Jei X ¢

i=2

EQQEJ:!‘—UJ:i

fm2
k 1 " "

A0 = > X —. a;@8q = a;€q + 3 by L oa;, €
i=1 anJan i i=1 QnEJ!i B

: qa7q

Sida =0

Fi’]ﬁ Ay = O3 = +eeeee= adx = 0

S{ Vel teR}ESEB

> dim H > X:

mERMAEAENR , B dimH =X,

EEEEMENERREY , AEFEREH ., vVHEREERE
B, TURBEBRETRABER . B ERFTHEEEN TR ERE HE —

LEERONE  BREEEBE -

e 34 .



BERMEMEMEHMGAERSIMT : HE Hilbert 239

Dim H n Xo X

» Y
dim H n X X

mﬁ%;ﬁt , A %A dimH = 2’0 iy Hilbert 2Z3f
A A Diméz=Dirﬁ'Lz =% ‘
sodimge=dimL: = X (BTHEMGE)
BH, SEMH Hilbert SHMBEMERE X
Bl LEAMEEMR (), dim(RCt))=9, , FUBREEES
NEE, RO BTG , SRELRY  MBEAR) EE—E%
P , Stone —Weierstrass 2 # & Taylor BB R #5 B |
{87 Banach 2SR EH , EREE AR EKRLT !

Hilbert ZMEHRBAERNE , FUEAERESEMB L EHE
%—EIELHE o 7% — M Banach ZSRIXEBHRE ? BBWIRM
S8 BRMAELUTHES

#(V ., | | )B—Banach 2333 , Bc V
ﬂv.vev, (V.)c B a. €R ‘

= I & V. FHE—BRTIE

BI# BS VA9 — (@ Schauder £ &£

fEHilbert z3fer , B : BLHMi E X% > Schauder £ , %Eﬁﬁu
ﬁfﬁﬁﬁ*@&iﬂ4~&%ﬁ%.

V %5 — {8 7] 8 Schauder = Vul#7 ,

v

CHIY : fp ={ (Xa) CR | Z | xa|? <0} , 1<p<oo

={ )R Mt} lo={(x)CR| x. BF}
={ (Xn)CR I Xn—)o}

e 35 o«



EM&HERERY MG @EFSH , th2 Banach Z3f , MA

z,céqczmccacc s “p =g

24 dimg, =%1 : = dim R¥

. dimg, = dim Co = dim C =%; » 2<p<oo
Effi—REAETHOEERERER , BT £ AXEHRR Hilbert Z3f]
T BEEERBELE  ARALHEH :

(ean ) 1%5,, Co, 1 <P <ocofy— 1A Schauder FEJE , i ( €. )

n=0

£ C B—{& Schauder ¥ & ,
Hdre.= (0,0, QU Qe ) ,n>1
eo = (1,1, -0 SIS )
o8y, 1 <P <o, Co, CEEAMKTZERM,
M 4eo # 7% AT BH5 Schauder KK ,

BEB =1 edde, = (e 3% ,8cNT ,
SR 1
Hil 7l e =exll =1 V-S#T, card B = 1,
So boo N ALK
B&B ¥R E 24 B9 Schauder EE ,
BAE (1,0 ,0, - ) = €{1) = eu,5 —eqn
R R TNHE—
BE L, BB ()Y R EH— @78 Schauder £ E , # thAl F B 1M
REBEENFEHHEEE , 7HHB dim 4 > 2,
(8R4 dim £, < dim RV = 2,
Pt diméxzz,
fRERERK, dimy, =y, 1<P<o

D) BB As M BE

. 36 -



MERMBOBRTEG R SROEE , TARLR— R
BR8P — fB A B O 2

EER FEERES - = (xeRe| x| =1}, TUBRBE
B n fE BB ( Lebesgue JE ) B0 , MARA (0 —1) f6HEH (
£ER) 0 v(n), Hhon)- T2 o 20T 5 opogy

Pigti] n I(%)

fE x| Ixl <1 )@nfEl, B5HEH, KEEGER MK
TH#H p.310 o

 Lebesgue il Y B & . 76 5 BB MB R ES , BRI 0 5 (
n- 1) BT HRBREEE , R HEHOBE BRI A8 E
G, R EEERORATR (SRARBELETEFMBE 08 ) o
AMEEFBOSERFEN , ZIESBOTURES Bn -2,
n-3 , - HEHEX, EREHCHB R , FitmEEpe SO
EEERGEE  RARYEBn — 1 , ERERGEHLER B TFET
Mk EBEBO0 , Mk - I HEBBEERE (MR bk T
sp) L MEMESW O RETUA—@ATE - 1Rk ZMAN, £
BERET A0 HBEMBEE? FEEANBRER  FUAES
BUESBKEET |

o087 ATE Rl SRa R0

/) . B
U%(A) = inf 3 (diam A, )~
o UA.5A
diamA<3s

el dimm A. — Sup { | xy[ | x,y € A.} REEHBHBER

Z infg = oo ,

mE A REREF# , Al o SmEs , U2 (A) weERE, FATE
oo &N, US (A) ko

e 37 o



me H(A) = sup U (A ) = lim U° (&)
é d—0

AW HSR L — A E , BS Hausdorff-7 A RE ., VnE
3r >205H(A)F0HR,
Al EM@ r RHE—H,
mH HE(A)=:0 ", ‘@ >t
=fcol, (i< a << K
B, BRI E%H A Hausdor £ f #E#ES r
SR H—-dim A=r
FH -—dim S*-' =n —1
.H- dim R» = n
% H— dimA =n , Afg H— r /A BIE8 r # Lebesgue M ER
E—EEEE ., MANMEARYG , LEERVGEERRE - LE 57 L
BEEMES—HEFIFROAE :
N4 S £ (0,1) Z M Cantor £ ,
AlH, (Ss) = , Hi (Ss)=0

log2
log3

# % Hausdor £ |1 0 < H{— dim S =

B yglog2 (Ss) =1 2% (6]
log3
Bt HR—BOEZESH (FERTRYG ) , XEBEHRMEER
TER.IEHKOEEAGETEYE , b FERFFEW dim R*= n &
#HE , (£ , Brouwer B R B2 R AR FAME m= n , F Dugun—
dji, Topology p.359) o
HMBEHMT : ( Brouwer, Menger, Urysohn- )
EXR—HETH
WRA ¢ HEER -1

38 .



QXZEPHHME<noVPHHRU , IpHBERV cU
S{VHESRE J#E<n -1
QXTEp HHAME=noXEp HHHfEE<n , AR <n -1
EERREEREKOEEZTRZRBEHME | (6
HERTLEHAHEE . fnLebesgue #EEE , Analytic fEpE % % (
%% Gillman, Rings of Continuous Functions p.240 # ) o H ¥k ,

BMAM AN RO EPEERESH L, HEAFRESHOREEE
AFREREEO/HER, FERENRE (3) K Curtis @y Matrix Grou-
PSs ©°
MM Ll Halmos f — B 3% SRS 3R A 3 ¢
"For the pure mathematician, his subject is an

inexhaustible squrce of artistic pleasure : not only the
excitement of the puzzle and the satisfaction‘of the vi-
ctory (if it ever comes!), but mostly the joy of contém-
plation. The challenge doesn't come from our opponent

who can win only we lose, and the victory doesn't disap-

pear as soon as it's achieved (as in tennis, say); the
challenge is the breathtakingly complicated logical st-
ructure of the universe, and victory is permanent (more
like recovering precious metal from a sunken shipf:
Paul R. Halmos, Applied Mathematics is bad Mathematics.

( Mathematid¢s Tomorrow )

BRARMAHBBEREMNML - EHRD; RERMF
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Ref : FERZEHERD (L&)

MEEZ AR ES] (BEH )

MR R iRy

P .R.Halmos Hilbert Space

P.R.Halmos A Hilbert Space Problem Book
W.Hurewicz ; H.Wallman Dimension Theory
G .Kothe Topological Vector Space I

Wheeden , Zygmund Measure and Integral

F1: EALPBREEEAERY ¢ 2ot = 2700

AN EGEEREMEE > FHBEH ©

. 40 -



% Boolean Algebra,
Boolean Ring,
Stone’s Theorem fi§j4y

EEEm B2k =F RBEE

1E 1854 4 » BEBBI B8 5% George Boole 7 fii g 2 £ Investigation of
the Laws of Thought &5 » & 4R Boolean algebra 7EE#EER W] F
KoM EBERE MAECERXRPADEE—BEELRAE o ERM
3% “ KB ” ( Boolean algebra) B » At EAMBE BEESE »
A Bl 7 ( lattices ) REB - EER RMEREERBHER
AR EHLI THRRBERLE -
EFEm KTz BRPAEEERFESRMAE?
CEHE 1) RBFE %4 ( partially ordered set ) W E—HEAS ME
EEB—E T “ > " (binary relation) & F 5l &
% .

(PO1) a>a (reflexivity)
( P02 ) *a>bHb>a,Hjla=D ( anti - symmetry)
(P03 ) #a>b,b>c,Hla>c ( transitivity )

CB1) RZ, KPFEEH > PEZ. LEEEMK>"MTF:
a>bEZHMF alb
B(Zy , 2) BREFES o

(E&2) R(S,>2)R—GEFES

.41 -



FuESHu>a,VaES > AIBuSSE LR (upper

bound ) ;

FuRSZER  BHFESZERVER V> U » QI
uf STZHE/IER ( least upper bound ) o
2uESHu<a,vVvaES» BuBSSZFR (lower

bound ) ;

FURSZTHR  BHFASZTFRVEARV<u - Al
Ul SZHEAKTFTHR( greatest lower bound ) o
g B (P02 ) B :ESHENMERuU (RXKTR) FE

» Bl u Mg —f o
RE BRAABUTHESR :

(E&E3) : K- —IR—ERFESG HEAERBETERx , v &

BRAERABA TR o

RMBx, YHRNEREB“xVY” ; BATRE

%“XAY”O

BAREx VY Ay REBR L —LEAHBE XAy RX

VYyYBEREWMMEMEHBE BT
(L1) xVy=yVx; xAy
X (xVy)Vzhx,V¥

(xXAy)Az)hx , V9
REBRMTE :
(L2 (xVy)Vz=xV (yV

(X Ay)Az=xA(zA

Yy Ax ( commutative )
s Z E@ﬁ’]‘iﬁ ’
y ZHR AT R o

z) ;

zZ ) o ( associative )

NRABHFTExEL &V, AHEPFERS » x BEEH

( idempotent ) » BT LA
(T3 XV x=x; XA X=X
HEx>Y , fl

. 42 .
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(L 4) (xVYy)AX=X; (XAYy)VXx=x ( absorption)
R#kEZ FELE—HREG HLEHRMME_LAK ( binary com-
positions ) V , A ME (L1 )—— (L 4) »ZKBFELEK »AxXVY
y XAYZ BB, YTHRIMNERMEXATR -
BMEEEZERI VY =xf XAy =y REFHEH -
®x VYy=x,fl

XAYy=(xVy)AYy ( BHRE&)
=(yVx)Ay (BAL1)
=y (ABL4)

Ff®E xAy=y = xVVy=xXx
EE“>"MT
X =V STV y=x (xAy=Y)
XVX=X
X > X ( P 01 BR3L)
% x>V ,¥5y>x ,H xvy=x,yVx=Y
>x=xVy=yVx=y (PO2FK) -
RZ R o
E x>y,v>z,0 xVy=x,y5Vz=yY
>xVz=(xVy)Vz
=xV (yVz)
=xVy
= X
3x>1z ( P 03RKIL)
R(POL)—-(PO3 )R FL(L ;=) RFES
B (L4) (xVy)Ax=x =—H xVy>X
(xVY)AYy=(YVX)AY=Yy >

xXVy>y
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zV(xVy)=(zVzx)Vy
=zVy
= Z
H z>xVy
il xVygx, YEHRAPER
FE xAyRx, YHREKAXTH
R s BMTFRA (L 1) —(L4)KREHEK  EEHTHEMER
FHRETHMERH « ZERMEKREHE “ M4k ” ( complemented lattices
) o .
CE#%a) MiLDR—MEE  CAEMBETROTEO . 1, WE
TG
m o0<x<1 VxeL, M
X V. 0= X3 x Al =x
® vxel, IxXEL D
xAx =0; xVvVvx =1
& B\ & AR
(E&Es5) HRABDE—MEFHEEL MAWES R -
XV (YAz)=(xVYy)A(xVz);
xA(YVz)=(xAYy )V (xAz)
Vx ' % » 2L
ERERBF R TRMTABOHENN BEF—EHERBAME
Al — —#fi # ( complement law) » fEB M FERAF R o
— MR (group ) fFHBRMMEFE—BETEEEH—H—BRT
ZOoMERMKREBF » RMAABEN —TEAE—ELEx » HEH
WMELRx hWHEHPREKHEE?
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(1) x' ZME—
HELEMEX , x"€EB D

xVx =1 xAx' =0
xV x”"=1 x A X" =90
x' =x' A1

=x" A( xV x")
=(x Ax)V (x Ax")
=0V ( x' Ax")

=x" A x"
RMEAF/ x"=x"AX
x' =x' Ax?V=x"AX =xV
Rt TR AEME— o
(2) (x' ) =x
REMLTREMH—EAMKABME ZT)rE » fril
(x' ) =x ’

@@ 0o =1, 1" =0
0V1i=1, 0A1=0

AR 0 =1

XESB 0=(0 )

L 1 =0

W Vv, YEB
(xVvy) =x"Ay ; (xAy) =x vy

REmMTRAH—% TLRAEES
(xvy)Vv(x Ay )=1;
(xVy)A (X AY )=0 BT
(xVy)Vv(x Ay )
=((xVy)Vvx'JAC(xVYy)Vy ]

e 45 -



=({xVx' )VyYyJACxV(yVY ))
=(1LVyYy)AlLxV 1)
=1A1

=1

(xVy)A (x'"AYy )

=(x'Ay’

) A (xVy)

=[(x" Ay )AXIV C(x"AY )Ay)
= (X Ax)AY I VX A(Y Ay))
=(C0AY )V (x' Ao0)

=0Vo
=0
B (xvy) =x' Ay
RES (xAy) =x'Vvy'
EERAB—LHATUEB TR :
CHB2) BYXDNEZFEAP (X )BXHELES
(PCX)UL-N)H—HERE
B 0=9¢, 1 =X Ehmf
c@sl) &% B={1,2,5, 10}
%% aVb=Imi(a, b)
a A b= ged.(a ; b)), Va,be&eB
Al
A 1 2 5 10 A il 2 5 10
2 5 10 1 1 1 1
2 10 10 1 2 1] 2
10 5 10 1 1 5 5
10 10 10 10 10 10 1 2 5 10
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g WEBHFHRELE
1 2B rg BT R

HI' =10 5. 2' =5 - =8, 10"&i '
FRMEE—-T HERBOHEHETUEALR - MALEHERYE
AT :
(E®H6) H—EHIETZHEAB UEBEHRE_TEEREV , A,
x
(B1) XVy=Y¥YVx
XAy=y AZXx
Yx, yY&B ( commutative law)
(B2) XV (¥yAz)=(xVy)A(xVz)
XA(yVz)=(xAy )V (xAz)
VXx,Y, 2zEB ( distributive law )
( B3) 30,18 ; 01 =
X VO=x, xAl =x vV xEB
(B4) vxeB 3axXep >
xVx =1 B xAx' =0 ( complement law )
BMBBAMKRK  ¥RZR/(B,V, V)
AR AERBMGTIEE » Wl (B1)— (B4) BFHEK:
(A1) X A X =% , xVx=x
V XEB ( idempotent law )
(A2) xVi=1ys ZAG=0 '
YV x&EeB
(A3) xV(xAy)=x
xA(XVY ) =x
v, YyEB ( absorption law)
(Ad) xV(yVz)=(xVvy)Vz
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XA(yAz)=(xAYy)Az

Vx,vy, zEB ‘ ( associative law )
REBRMAZEHMT :
(A1) ‘x=3xVO0
=xV(xAx)

=(xVx)A(xVvVvx)
(xVx)A1l

=xVX

METHE X

(A2) 1¥fo
=2V (x'A1)

(xvx' )A(xV1)

X Ax

=1A(xV1)
=xVl1
REAHB xA0=0
(A3) X =xA1
=xA(y¥yV1)
=(xAy)V(xA1l)
=(xAy)Vx
=xV(xAy)
. AmEWA xA(xVy)=x
(A4) #HE xV(yVz)=(xVz)Vz

% r=xV(yvz), S=(xVy)Vz
RE®EH r=85 H
XAr=xA (xV(yVz))]
=(xAx)VI(xA(yYyVz))]
=XV (xA(yVz))
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XAS=XALC(xVY)VEZ]

= CxA(XVY)IV(xAz)
=xV (xAz)
= x

#HwE\ xXAr=xAS

¥ X Ar=x"ACxV(yVz))
=(x'Ax)VI(xX A(yVz )]
=0VCix'A(yVz))

xX' A(yVz)

X' ((xVy)Vz)

C(xX A(xVy)IV(x Az)

=[(x'Ayx)V(x'ijV(x'Az)

COV(x Ay)) v (x Az)

(X" Ay )V (x Az)
=x' A(YV Z)

mE x' Ar=x'"AS

B (xAr)v(x' Ar)

' = (xAS)V (x' AS)

x‘
b
w
I

S(xVx )Ar=(xVvx')AS
= 1Ar=1AS
- r=s

FAEIE XA (YAz)=(xAy)Az

mEEHESR  AACRETEABHEERLS TERFTERRR
BHER  BEE—SH - BABRIA—EEAS: fRARBTUZEERR—&
H P8R ( ring ) » KRB E B KR ( Boolean ring ) o

B BRMUAEBEFENTHES
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(ER7) MHERBHR—EAFEMILE ( identity ) R » HHH
It E—TEE WME SE®R ( idempotent law ) o
AF LB —EHEGAT » EE5LHLBHERK:
CE4) B(Z,,+, ) hE2BBR» Z,={0, 1}
BEE# 0 -, 0=0
1 #; =1
(Zy ,+, ) WESER
CHS5) FER=nw (X5Z,), XF9¢
EFH:(f+g)(x)y=1f(x)+ 8 (x)
(fg)(x)=4(x) » 8(x)
vV xeX
BB ROZBAFEMTROTRE
EFHREMNKE  AEEEVHBRESEERNT
% fER
% f(x)=0,
Bl - (£ ) (x)=f(x)eyi{x)=0-,0=0;

E f(x)=1,
2] (E¥ ) (X)=f (X)) 2, F (X )= =5l =T
i BB—RFHTRBWREERERE -
CHRARRERMESER Bk BRATUAIREREESHKE :
(1) char R =2
V a, bER, a+b=(a+b)?
=a*+ab+ba+ b’
=a+ab+ba+hb



2 RMWMERHRE:
BHE 2a=0,nfFa=-a V aER
X ab+ba=0

> ab=-~ba=D>ba
BRANGTHERRBEAGRR - &5 > RAEFHEFEMAREZ
fisl 9 B £

OFEEMRARETESEXTKE :
(OB, V, A R—EGKRE @FBmE (+) » FE (- )

wmF
x+y=(xAYy )V (x Ay)
X - y=xAy Vx, yeB
A MEEERE SRR
x+y=(xAy )V (x'Ay)
=(y Ax )V (yAx)
=(yAx" )V (Y Ax)
=¥V + X
MA >x+0=(xA0 )V (x"AO0)
=(xA1)V(x' AO0)
=xVo0
=X
x+x=(xAx )V (x'"Ax)
=0VoO

=0
Rt -k “0”" 2 (B, +) FHEMRTE » AE—TLHK
xHBERTER-x=x  RFBERHLE A% :
RMEEE—T:
(x+y ) =C(xAy )V (x"Ay))
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=(xAy' )IA(.XIAY)I
=(xX Vy)A(xVY )
C(X VY )AXIV (X Vy)Ay )

=(xAy )V (x AY )
FIA ERKBOEE % :
(x4+7y ) +2
= C(x+y)AZIVC(x+y) Az)
S {C(xAY )V(X Ay)IAz }V{C(xAY)
V(X AY ) Az) ’
=(xAy Az YV (X AyAz YV(xAYAz)V

(x" Ay Az)
ERXAEWEx , 7, 2 EHBE TUEBERLAT » LEX TR
Eg. H

(z+Vy ) +x

1

(X+95 )+ z

x+ (y+2)

mUEBm( B, +) hRe—5xHhE

R EERAE, BREERF—FFH:

HEREHESR  THEHREEEFATRBEAME AR A TR

1 " ThEBEHAIEATTR ©

AL x*=x-X=xXxAXxX=X

FiUHE—-ELTREWMEERER -

BRTREEVBRMESER » BIFRIBREAIER o
X (y+z)
=xAC(yAz )V(Y Az))]

(xAyAzZ )v (xAy Az)

Il

m XY +xz
(XAy )+ (xAz)

I

« 52 .



=C(xAyY)A(xAz) IV C(xAYy) A(xAz)]
C(xAy)A(XVZ)IVC(x VY )A(xAz)]
C(xAYAX )V(xAYAZ YIV ((x"AxAz
YV (Y AxAz))

(A TAZ YV (IxAT Az)

Fibll x (y+2z)=3xy+xz
F 5B R 8 e s A AR BB R A EBR  RBKRE - RBRAE
0 T W 38 A AR IO 2
(2) 45 18 A EC 3R 7 VT g MR A7 R ¢
BIR,+, - )RHRR eRERV, AT :
aVb=a+b+ab
a A b= ab
HEBTAMERY , ARBE TRE > AMEES R
aA(bVe)
=a (b+c+bc)
=ab+ ac + abc
=ab +ac+ ( ab) ( ac ) (+ a*=a .V a€ |R)
= (ab )V (ac)
=(‘<1Ab)V(aAc.)
X (aVb)A(avVec)
=(a+b+ab) (a+c+ac)
=a’+ac+a‘c+ba+bc+abc+a’b+abc+a’Bc
=a + bc + abc
=aV(bAc) ‘
Bk 2RBERIL R0, 1335 mMEMFEHEMCTE »
Al
aVo=a+0+a0=a

. 53 -



aAl=a2al1=a V aE R
E#E av(l+a)
=a+(1l+a)+a(l+a
=1+ 4a
=1
aA(1+a)
=a (1+a)
=a+a’
=2a
= 0
Fill(1+a)Jyam@itsE ( complement of a ) o
FZRERBBEH > BMTAARARBAARBTEL HB R o KK »
1 3% ¥ Stone' s &
(2% 8) ®FIB, B*BHAEAH
FE® f: B—— B*WRE
W f7H1—1peg
@ f(xAy)=f(x)Af(y)
@ f(xVy)=f(x)VE(y)
@w f(x')=1(x)'  Vx,YEB
Al & {5 7K /A% ( Boolean Algebra Isomophic ) o
(uis9) BB, BPEAKARB  EFERKABERE {
> f: B B*
A% B F B* 54 A FH o
B, B*RFA# > B B, B*HI@BAREKGAEE RA
R* 2% 2 F#EH R ?
Stone's 2 & FHF R -
B, B*RA#K HE—EARRBABHKER , R*
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E?Tﬁﬁﬁﬁlﬁ£%°

B B* .

R : R*

ENERRE > JATEN -
BEE:
1. N.Jacobson; Basic Algebra I
2. -J.Lambek; Lectures on Rings and Modules
3. G.Birkhoff and S.Mac Lane; A Survey of Modern Algebra
4 D.M.Burton; Abstract and I inear Algebra
5 G.F.Simmons; Introduction to To.pologY and Modern Analysis

A RSB BRLEIEN - H I o

° 55.



o 40 38 24 e

IREEM : RHFE
=8 28

EHEBHENE BUENEEREEEES P EEL
E—BAEAEES < B HEARBIE RRCHESORBEY
BAUBRAMTER - AME—BEATF (M@ 1) : EEEESEE
SEG o RBECBEAN B LARTIRE:

-———— oo
v
[ e




7 oA e B 2 — BRI — R B oo Lt & 1
BAGRBAELR  AEREOITE BRESTH I e ;
BRERIFEGORRE  (THEBREREY ) » LEOATFRED 4
RAEEER » ABAKFGHE -

KL ABRSMAMBEAINNE RFEBRTAKGEE R
FARBTROAEE (BE BTEIREAT ) | ATMES FEH
BEEASNEED  RERCKEESOMERAREFFOTER
o RERERRE—MARKHMESE: BAEFESE KA S
T B

FOR(REHHE)
H1E
H2E

®3E
BAE

(E=)

— BOME—BHELEIE BESH T K ERTHE -
fitn : BEEIMREY  ZHBE_MEIE > FUERH4 KROS5

B o
T EBIRGHERERIGER ABRREL—-EOEH  BREHELE
BREESK-ER AEB— o FA > FHEEE—-F-

[

CERAKIBHOHEN  AERFHETSEFNTHARBBEMHBKRZE
ERAELE-

RULKE  REBE2PHEHNES KSBRBEEMNT :
P-@-0-@-*0 000D “0-0-"0 >
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@@ @— e STOP , HrhH < WA E B K IRE B o

BREBOLEFEEMFERKESH: BE T :

BERME 12 EELKMELHR  AHF—ERBELKHE K
8RR HAESE NN TEXBTER  FIASBEXTRE
BB EE |

BT E TEAFRGE

12 RBUA-L » 7R EBA-F R—8 - > LR 6kB
R—E ETSBXFL LEF—-FKE» 7EME3 o

EE3IhF B KESBEENR °

e 58 o



ERMALAGESHSE  RTHUEREDRMEEME » BT
M_EEBHME :

— >~ AfGf&E :

BT 1850 4 » Gauss $HH : £ - 8X S IMMB Rt » BHLET
—EEE (Q) B EHSE? BA Gauss RHME » BAFREL - &
BEFE(Q)WANMT : BEEF (Q ) MEMET  BTRYHS
FRETBEEMLRESE  FANEE “BE"BORE B4+, 2
B(Q)MBRALEBES o

H—F— [

FHEFI—~

BEAT]— (4 )

12345678
RUED  LHESS BREF S




FEBKEL > RFART HFE—FED: FFIEO » L=FIEO >
--------- BHF - BERFAFEEY  REF—KAERRE—FBIEAR
I RRME— R HHERMEKME 58292 B (FEZR
$# ) » £ BASICER 7% DA-800 L RUN - Ql@EEB KB RAY
90 % 4 o L) FORTRAN /& % 7 PERKIN— ELMER 3220 L %7 » T
CPU B fTRE MI#5 0.270 sec ( BIEAMHAHER ) » HERXWMTF :

— EABERY
L Q(1)XFEIFEREME: 1<1<8o
2 1ERFERE o

o BREE:
FORTRAN-VIID R03-00.0

FORTRAN VIID: LICENSED RESTRICTED RIGHTS AS STATED IN
LICENSE E-0582-0076

1 000000I DIMENSION Q(8)
2 0000061 INTEGER Q

3 0000061 DO 1 I=1,8

4 000034I 1 Q(I)=1

5 0000581 1=2

6 0000601 3 K=I-1

7 00006EI DO 2 J=K,1,-1

8 00007AI IF(Q(I).EQ.Q(J).OR.ABS(Q(I)-Q(J))

.EQ.ABS(I-J)GOTO 90

9 0001101 2 CONTINUE

10 0001281 I=I+1

11 0001361 IF(I.GT.8)GOTO 12

12 00014CI GOTO 3

13 -0001501 90 Q(I)=Q(I)+1

14 00016AI IF(Q(I).GT.8)GOTO 14
15 0001861 GOTO 3

16 00018AI 12 WRITE(6,4)(Q(K),K=1,8)
17 00020EI 4 FORMAT(10X,8(I1,1X0/)
18 0002281 14 Q(I)=1

19 0002361 I=I-1 -
20 000244I Q(I)=Q(I)+1
21 O00025EI - IF(Q(I).GT.8)GOTO 21
22  00027AI GOTO 3

0600



23 O00027EI 21 IF(I.EQ.1)STOP
24 0002961 GOTO14
25 00029AI END

NO EERORS: F7D R03-00.0 MAINPROG .MAIN 02/25/84
11:38:19 TABLE SPACE:

STATEMENT BUFFER: 20 LINES/1321 BYTES STACK SPACE:
143 WCRDS -

= IR I2BEERERER

. 1 5 8 6 3 7 2 4
2 1 6 8 3 7 4 2 5

17 46 8 25 3
4 1 7 5 8 2 4 6 3
5. 2 4 6 8 3 17 5
6. 2 5 7 1 3 8 6 4
7.2 5 7 4 1 8 6 3
8 2 6 1 7 4 8 3 5
9. 2 6 8 3 1 4 75
0 2 7 3 6 8 5 1 4
. 2 7 5 8 1 4 6 3
2 2 8 6 13 5 7 4
ZmHarE

Eﬂﬂr%é’ﬁﬁﬁﬂE%EQKE%ﬁé’uﬁﬁ%ﬁﬁﬁ%
BES WRENEHAHNECRY  ERAEMABALCEBEHHEE
M o BEBTEIIMRME :

06:1.



&5 (a) @ 5 (b)

Mm@ S5 (a) KLUWEFAAMECEE  TESERABF B &
EBRELESHRFEFED - BTHERR »BES5(a) » XRE 5
(b) » AEENUL 23 -4RE  CEATHI KEFHEAR]
23 (&F)  FIUABREMSNEMBREEQHERNT | X
B 569 8 Bk 8 6 BT & : ‘

O
K : 1
1 28
2 3
3 2 4
4 34 2 Q2 3
5
6 '4 3 3 4 Q. 4
Q)
7 41 13 1 12 102
8 5 - O o o' @ 99 o ol
9 1] 44 4 2| 1\ 2 1 2
O O O 00 .0 0.0 (3 ®
10 4 O1141 1-4411 4 . 1oe 1
11 - O O 0 00 OO0ODAOO O 0O Q A O
1 1
3 34] 1] 4] 4 1la|1f3[ A\ 13 3] 1/ 3] 1|3
12 oy O AOQO OOOAOA DO AO O 0°0 A
2 22] 2[1 4] 4laf4] 3] 1] 1] 2[ 2] 2
) O A, . O ON O OAA A OO0 A-Q, O A
32 18 2 3 2 2] 4 4 3
I L [ [ 00 00

O:Rky A& )
P.S.: 45—k b # W AR R 6 3R & 6
L] 620



MRAEmREER s THBEE——F2 BEEFRBAMHEEX
B » AIER W27 BERTEAKEIHMN > EBHMELGE
BES EHEEHRERENTESEER !
ER—ESF39MBEBRERGME M (7) Fix -
BEBMFEHEEEE
Algorithm :
BRRIAREF I RER (1< i<39 )
step — ~ & H H#E o
step —. ~ EHHMBEHGE BIEREA
step = EEE i EBHA(1<i<4)
casel. E# | BHACEBBRFEEHAB RSN —-EEHE -
EFORBETMRERIE i RO TTHEE  AEE
Bi- 1BEMEREE EE i - 1BHREHARE (&
BEHMBETES ) BR1%K BRI i =3 8 B1A
ik o
case2 AFBEKRPMBACH  HE | CRATHEKEZ -BEE
AREHMBEAVRER B IET-EHE 8
HufTtE (Blistep =) s BER/ AR T—BRE (i «i
+ 1) » ¥ step— o
FETLERBEEEMOES AWEREF MRS ERBAERE
BHARBIMMER MMAEE ERXHPHRFACEES ? HHETE
Ryt NEMR— FEME !
HMARMEKRE L RBEEDNE 39 B K ATLAE ST 0 T 89 45 B B
% :

& 7

e 63 -



B I | #8 B OB BEI| # B & A
1 1 1 21 10 11 20 3
2 1 1 22 11 12 21 3
3 1 2 2 23 12 13 22 3
4 1 3 2 24 13 14 23 3
5 1 4 2 25 14 15 24 3
6 1 2 5 3 26 15 16 17 25 4
7 2 6 2 27 17 26 2
8 2 7 2 28 17 18 27 3
9 2 3 8 3 29 18 19 28 3
10 3 9 2 30 19 20 29 3
11 3 4 10 3 31 20 21 30 3
12 4 11 2 32 21 22 31 3
13 4 5 12 3 33 22 23 32 3
14 5 13 2 34 23 24 33 3
15 5 14 3 35 24 25 34 3
16 6 15 3 36 25 26 27 35 4
17 7 16 2 37 27 28 29 36 4
18 7 8 17 3 38 2930 31 3237 5
19 8 18 3 39 32 ~ 38 7
20 9 10 19 3

(R BB I1EHERSBEE )

Lk RMERTU—-ME39XTHEFSIREFE  BFEEL KIE
ERBER  @HFSME  OIMGILEFEEES] ( Jagged Array ) B &
B39XTRAIKEBZH » RFIATL T 55 B Mk
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S Af'\.
JEE 893

| xR B
Zi_ 1 ?EE%
3 L E 51~
416 (837 =
5(8 1|4
6

)

A:fl1f1f|1]2]1|3|1]4

> (R’ 5 TR » T
1 2 3 456 78 9 10 ¢REE)

EERBYSHIIEABIIE  RATURRECEEREREME
B BA £ :

REkERFOHERBEEM (&) » IEABSIDRBRE LB
WEZ: A(S(kE-—1)+B)»1<B<M (k) »HpS (k-
1) RAEL- 1EBLFEAEBREBRB - I REFLERBH
Bl AIEBAM (4 ) =2 mEHEE_EHE  ZBS (4—1 )=
S(3)=4  WEANEEBERRAFGA (4+1) » A (4+2
YA is e s 1H3 o HBKEERE o |

(EBXFPEREERENS (k) RERELUSE 28 MEMR S
HERBRESEZEXE k- 1BRS LARHLEEHAE)

BARH

A:RFEXRBH G " BEE -

M: RRBEGHE -

P:rHEBESL&: P (k1 ) BREXAMEGARESE P ( k-

2 ) RIGREA - |
N : @R i~ e MMM (N=112 )
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MM : BIK% - ( XfIMM= 39 )
T: HEEABREANRK

MC : 2 v] 17 fi#

ko BEBRBER

S: (mEXHRH )

LINE : #HIS®ESFHEHA 601T o
% 5 T 1% : ’

L BABRBERA -

2 BMBABTREA -
BXEE:

° 66 -



FORTRAN-VIID

FORTRAN VIID:

00 ~ (2} [} BN

0000001
0000061
0000061
0006641

0006641

0006641

00066CI
0006941
00069CI
0006GAEI
0006B8I
0006CCI
0006D41
0006DCI
0006F41

00071CI

0007341
00073CI
0007581
0007661
00077AI
0007881
00078CI
0007961
0007A01I
0008301
00084CI
00085A1
0008941

RO3-

LI
LI

00.0

CENSED RESTRICTED RIGHTS AS STATED IN
CENSE E-0582-0076 **x*%  SEE

DIMENSION A(200),M(50),P(50,3)
INTEGER A,P,W,S,X,B,T

DATA N,MM,MC,K,S,LINE/112,39,0,3,2,0/
DATA A/1,1,1,2,1,3,1,4,1,2,5,2,6,2,7,2,
3,8,3,9,3,4,10,4,11,
$4,5,12,5,13,5,6,14,6,7,15,7,16,7,8,17,8
,9,18,9,10, 19,
$10,11,20,11,12,21,12,13,22,13,14,23, 14,
15,24,15,16,17,25,17, 26

'$,17,18,27,18,19,28,19,20,29,20,21, 30,21

21

31

,22,31,22,23,32,
$23,24,33, 24, 25, 34, 25, 26,27,35,27,28,29,
36,29, 30,31, 32,37,
$32,33, 34, 35 36,37,38,88%0/
DATA M/1.1,2,2.2,3,2.2,3,2,3,2,3,2,3,3,
2, 3 3 3,3 i |
$3.3 , 3,3
DO 1 I=1,
p(1,1) I
X=0
S=S+M(K)
K=K+1
IF(K.GT.MM)GOTO 31
T=1
L=1
DO 2 B=1,M(K)
IF(T.EQ.P(A(S+B),1))Goto 37
CONT INUE
X=1
P(K,L)=T
T=T+1
IF(T.GT.4)GOTO 15
L=L+1
GOTO 21
MC=MC+1
LINE=LINE+1
WRITE(6,3)(P(I,1),I=1,MM)
FORMAT (10X,40(I1,1X))
IF(LINE.EQ.60)THEN
WRITE(6,7)
FORMAT (1H1)

,é,é,é,’s,&,z
,3,3,3,4,4,5,7,11,%0/
3
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36 00C8A4I
37 O0O00B8AAI
38 0008BOI
39 0008B6I
40 0008C4I
41 0008D8I
42 O0008ECI
43 0008F6I
44 0009041
45 000958I
46 0009801
47 000988I
48 O00098EI
49 O0009A0I
50 0009B8I
51 0009CCI
52 0009D8I
53 0009DCI

37

46

100

LINE=0
END IF
GOTO 46
T=T+1
IF(T.LE.4)GOTO 21
IF(X.EQ.1)GOTO. 15
K=K-1
IF(K.LT.3)THEN
WRITE(6,100)MC
FORMAT(//10X,'THE TOTAL IS ',110/)
STOP
END IF
S=S-M(K)
IF(P(K,2).EQ.0)GOTO 46
P(K,1)=P(K,2)

P(K,2)=0
GOTO 15
END

NO ERRORS:F7D R03-00.0 MAINPROG .MAIN 02/25/84
11:07:13 TABLE SPACE:

STATEMENT BUFFER:

20 LINES/1321 BYTES STACK SPACE:
171 WORDS

E E BTN E ; Al 7E PERKIN-ELMER3220,CPU
BITHE R 0.015sec ; MERZIAIH BIZAW 27 sec 2
MBS 15,914 o TRETITHRH —F{H o
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WEE(n+3)—af(n+2)+
bf(n+41)+cf(n)
£ () B R EC BB

REZED : BRE —2:HE5R

B R E

ABEEERBEXRWE f(n+3)=af(n+2)+bf(n+l)+cf(n
) By f(n)BFIRBKES] - £ LY f(n+2)=af(n+1)+bf(n) BIEE
BR—ARAKRRI(MBUBES - F_HHEHENER {(0+l)=
af(n) /5 f(n) B% » BLU—-FEBHSBRMBER/ERE - F=ZHR AR
B0 AR f(n+2)=af(n+1)+bf(n) By f(n) AXNMGE LR
E—FPHRBRBIIRECHMR FHHFARS AFEHRE N K
BERNEEL TUAHATRAAEBBEENEH S —BRER - F
PaEi AL £ (n+3)=af(n+2)bf (n+1)+cf(n) @ f(n) AT x"=ax®
+bxt+ec =ZRHEBRER FEARHBR e ERAABTRER » #
RIXBHRM » 0 » GEEETEFRERZE » BFBELE °

= : f(n+1)=af(n)

f(n+3)=af(n+2)+bf (ntl)4cf(n) Eb=c =0k HS
f(n+l)=af(n) BEM o BA £(n)=as-f(0)o
fl— : f(n) @R f(n+1)=3f(n) B £(0)=L fl f(n)=3=-1=3" o
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Bl—: f(n) @R f(n+1)=3f(n)+2 H f(o)=o0 f "~ f(n+1)=3f(n)
+2 ATER [ f(n+H)+H1]=3 [(f(n)+1] . [f(n)+1]=3>- [0+
1) =3+, 8 f(n)=3—1 o '
BEX—EBFRLABHERME , XFA LR HEXMRE o
MERMT : MEMEETLA ,B ,CZRAE, ZARELEnESE

B,ERATIET , SEEBETAGREBH : ‘
OBKREBH —HEoM8 o gfgbjﬁ H
OREH—ABBER —KAK , TEXEHNE - ) »
OBBDBESH , BABSBTEXER NG SR LE o
MSMMAREEnHeB2RBHE B~ KRB (RC ) L%, THB
BB B K ?

BE(n)Er BBl —ARE2BER KB LAIEBBY &
K o B £(0)=0, £(1)=1, £(2)=3 M AKKLEHD +1ELM
B BARME f(ntl) g BAER o + 1 Bafkh» BETH—M8 (
BAHLE)TH KR o BLBRBEB AR L T4E () % A
BEAXKLBAHOBRBECARL BABMBARLY BERE
ECARL  ERASHESBEERSWOMS + Fi L £ (n+)=F (n)
H+H (1)=2f(n)+1 RAES £(n+1)H=2[f(n)+1] » Bl £(n)+1
=2+ [0+1]=2+8) f(n)=2"—1 » Ko EEBELBER KK » T
=21 %k o

BEBRB—BAEKEWRE f(nrl)=af(n) 5 f(n) K o 9§ ¢
(n+1) L xfRZ » £(n) Lhx°=1 2% » Al f(n+l)=af(n)WMK x=a »
aB L HBAZMR » Ml £(n)=ar-£(0) Wi f(n) ZRFRBENY
BRI R TR o

= : f(n+2)=af (n+lytbf(n)

f(n+3)=af(n+2)+bf (n+1)+cf(n)HEC = 0 B » LMK T f(n+2)=

© 71 .



af(n+1)+bf(n) HEM o
[ &8 — ] f(n+2)=af (n+1)+bf(n)>az+4bx0-a2+4bx0 #HE f (

(0)=X°, f(1)=XIs B\U f(n):—&i—ﬂ-(x-a"—y-ﬂn) ’ ﬁ

B X=x1—f-Xo01» y=X1—0-Xo0,0,8 B x2=ax+b R o
[BH] Fa, AHEABR x=axtb 2248 » Al a+f=a, x

af=—b, ¥ H az+4bx0 4] a—Fx00

B f(n+2)=af(n+l)+bf(n)=(a+p)f(n+1l)—apf(n),

A& f(n+2)—af (n+1)=A(f(n+1)—af(n))

B, £(2)—af(1)=A(£(1)=af(0))=A(x1~axa)

f(3)—af(2)=p(f(2)—af(1))

f(n-1)—af(n-2)=4(f(n—-2)—af(n-3))
x)f(n)—_af(n—l )=A(f(n—1)—af(n-2))
f(n)—af(n—-1)=F-"(x1—ax0)
o f(n)—af(n-1)=F"~1(x1—axo)
coan=2[ £(2)—af(1)=F(x1—axo)]
a*—*[f(3)—af(2)=A*(x1—axo)]
a*=4[ f(4)—af(3)=F%(x1—ax0)]

a?[ f(n—2)—af(n—-3)=F"-3(x1—axo)]
a[ f(n—-1)—af(n—-2)=F"-2(x1—ax0) ]
)£ (n)—af(n-1)=ps1(x:—axs) ]
f(n)—ar-1f(1)=(x1—axo)(a"-2f+ar-3f24+ar-4G3+
o @2ga-3pgfn-24ge-1)
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= f(n):an—lxl_'_(xl_.axo)(an—l+an—2ﬂ+an—3ﬂ2+ ......... )
+O‘.2/9"'3+a/9n"2+/9"_l)—(x1"‘aXo ) cqn-1
= f(~n):a"Xo+(x;—aXo ) (an—l+aﬂ—2ﬁ+a"—3,€2+ ............

+(12ﬂ“'3+d/9"_2+/9“‘1)

> f(n)==2p [a*xe(ap)+(x1—axo) (a—p)(as-1+

a—pg
@ A= TG 0 F Q| wiressnasnnisisns tazfn-3ygfn-24 pgn-1
)]
> f(n)= aiﬁ [ar+'xo—a®(fxo)+(x1—2Xo)(a®—pg")]
> f(n):a—£7[an+lao_an(/9x,,)+anxl_/9nxl__an+1x°+
A (axo)]
> f(n)= 25 [(x1—pxe )ar—(x1—ax0) 4 ]

C X=X1—fXo0, y=X1—aXo

1
a7

(BE—% ) f(n+2)=af(n+l)+bf(n),az+4bx0, 5 £(0)x0=0,

o £(n)= [xar-yf* 1 BE o

£(1)=x:=1, fl £(n)= 725 [ar—p2 1,0, A BHER
x?=ax+b 4 o

EE—F M, H(0)=0,(1)=1F, f f(n+2)=af (n+l )+bf

1/9 [ar—pn],

(n) B3 f(n) F—BREHAR f(n)=
Hepo , AIRFHBRA x?=ax+b R o EFEEa=1,b
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RO » 1 1+vT+4N,
—N(Ek&&)ﬁvf(n)~n+4NE( 5 )

4 - N .
—(l—iyﬁ—fj’mﬁﬁmM%%ﬁ&&ﬂ'ﬂ%E’
_ N=1BO—BEAMNE -
BEBFIREMRI(0)=0>f(1)=1>f(n+2)=f(n+1)
+f(n)@BBA L (n) B ERHEBHARML(n)
I e £ i P 1= b, . : ;
= = '2_) ()" HRRERS - BHH S
BRHUCFBAE  LANSHEORE » SERKKFIHH 31 K (
£(0) ~f(30)FIHMT :
0 »1»1 223 »5»>»8>» 13 » 21 ’:34 » 55 » 89 » 144 » 233
» 377 » 610 » 987 » 1597 » 2584 » 4181 * 6765 » 10946 » 17711 »

28657 » 46368 » 75025 - 121393 » 196418 » 317811 » 514229 -

832040
DTEHBAEMARBREIEEEEH
B— f(n—1)f(n+1)—Cf(n)) *=(-1)
E%%Jﬂﬁtﬁﬁﬁ%Ai '
1 1+J_ 1—J§nj

f(a)= " —
(n) «/TE( 5 ) (

f(n—1)f(n+1)—Cf(n))*

® (Robert Simson )

A A VB 1B et o L BB
=== el B+ pell—gr=)

— V5 V5. ~ V5
st ):}—{——ul+ — (=)
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:_{ L+VE 1+/— ,..+(1—-T~’—5—).._(_1f2«/'5_),‘...
—VE
(i—;ir“~(1+f_r“< zfgﬂ“

~

1—v5 .
> =) "}

(

+\/_5-, - l_‘l_‘\/—s_z
- )t + ( 1)(-——2 )

4 g sl
—5{( 1)"(
+2.(—1)"}

:-5—{3-(—1)“+2-(—1) }

=(—1)"&B8
= f(n)=2 f(—k)-Ci=1(0)Ci+1(—1)Ci+
+ £(—=2) Chrik sseesscsersscat £ (—n ) C2
EH{(—n) TESH: ABBEHF(0)=0-1(1)=1">
mf(n+2)=f(n+1)+£f(n) |
BiElf(1)=f(0)+f(—1)+£(—1)=f(1)—f(0)=1
s B f(—2)=1(0)—f(—1)=—1LIEH {(—n)F
gEeBET Hf(—n)=f(—n+2)—f(—n+1) EMEZ
f(—n)=(—1)""f(n)o
(BE=] f(—n)=(—-1)"*"1(n)
CEH) (1)%n=0Bf(0)=0=—1(0)RY
En=1Kf(—-1)=1=f(1)RX
(i)@n=kEn=k—1BRERRL &



f(—k)=(—1)""1(k)
f{(~k+1J=0—1)"1{k—1)
H £ (=k=1)=f(=k+1l)=f{—k)=(~1)"1{k—1)
—(=1)*" (k)
=({—1)"" Ct(k—1)+E(k)I
= =1 ]™ #{ k¥+1 )
Bln=k+ 1BRERAKIL: 1 (i) (ii ) BE
BAf—EEBER( £ )OEBIFE  HE—8F a.a,,
Qg poeee 5 @n °.§bo,b1,bz, ...... ;bn—lm:ﬁ_‘&yuﬂﬁﬁbk:ak+l

—ax Bl be 5, by bs, e > boy IR a0 7 21 2 ap 2 oo v a. B 7
BE—WEES : HEM a0 a. a, a, - Bui B '
BFIBRbo > by o be o \ VY .

b R A PR
EHF (Hao » a, » a, »
-------- vas OIS R ERS ) MEEBET X a0 » ar v a, v o2,
BOME I HMEBIIER ~ELR (EEESs ) o
CEE=) R ao 2 a; » e va. I nEEBIIBTRES s »

.EUs:k§ {—1 )" s ae» i =(—1 )"accs

g o= B g e e frl] T B O
+ {—1 }* axed

[?3%] (i)ﬁnbzlﬁszal_ao:kéo(_l)l_k .ak.ci

=—ay+ a, FRAIL
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NS : ¢ " 2
(ll)a&“nzé'ﬂﬁﬁiﬁ’ﬂﬂs:kfo(—l) e ayp * Cy

En=L+ 18 > A a, » a; 2 @ » ceeeeeees aeﬁ%A,,;[h;
Ag, ...... ,AK’AZ+‘E[9
E—MEEHS -

Y A2
Bs= 2 (—1)¢*cacect=2 (—1)*

k=0

e (Ac+:1—Ax) o ck
=(=1)*ect e (A—A)+(—=1)* " ecl e (A~
Ay ) et (—1 ) o chei o (A —A,—,)
+ (=1)" e chs (Ag+i—AL)
= (=) et e A+ (1) (E+ct) oA,
£ (=1)¥ e (cHecl) o Avtedt (—1)
o (ci-it+cd) A+ (—1)° —citl v AL,
= (=1)M e A H(—1)% e et A

+(_1)J-1.c.§+l o A, eereeeens +(_1).C,‘1+1.AJ
+ (—1)" e cfiic A
f+1

= B (=1 )}V e A e c®t
k=0 k

Bln=0+ 1BRI e (i) » (i) BB o
ETRE=  2B= TEH £=
CEBI BE(0) £(1) £(2) £(3)rr f(n) BBEM
Bf(n)=f(n+2)—f(n+1) RFEM@E(0) £(1)>
£(2) 0 £(n) BMIIEHE K EMFIHE RS £(—K) »
C B s=1f(—n) (HoBEBFIBHTE)
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f(0) f(1) f(2) f(3) f(4) f(5) - f(n—1) f(n)

AV VAN LY

£(—1) £(0) £(1) £(2) £(3) -eorrormecemeninecn

VAV /

NN N

f(—3) f(—=2) f(—1)-

Sl Sk

f(_4) f(_3) .....................
f(_.5) ...........................
CHE(0) £ (1) £(2) 0 e s f(n) BFIME s=1(—n)o

B E =
s=f(-n)=Z (—1)"*+ £(k) «ct

g =(—1)" s f(n)=(—1)"= £{0) s ei+(—1)""
e f(1)eci+t+(—1)ef(n—1)cca
+ (—1)"« f(n) «ch _
fla)=(—1)«£(0) s el+{—=1)"= (1) v et
o susrsay =1 §* w PLos1 ) » 5o
(=1} " s f(n) 62
fln)=140)  c5 4+ f{=1) = e Fwn f f {=mF1 )
e ch-i+f(—n) eca (HEBE_4H1)
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f(n)=2 t(-1) - ci B

(EEM) H#x" =ax+b Al x" "' =f(n+1)x+f(n) b Heh
f(n) R f(n+2)=af(n+1)+bf(n) BEHE
£(0)=0>f(1)=1-°

(EBHI(i) n=1Bx"=1(2)x+f(1) « b=ax+ bEiL

(1)@ n= kKBERIL » B0 x*** = £(k+1)x+ £(k) » b
A x(t9*F = f (k+1)x"+f(k)ebex
= f(k+1)(ax+b)+f(k)sbex
= (af(k+1)+Dbf(k))x+be f(k+t1)
= f(k+2)x+bef(k+1)
Bin=k+ 1K B (i) (ii) BE
CEEMAR) £Ex"=x+ 1A x " =f(nt+1)x+1f(n) » HKeh f(n)E
BEXREY  BREEASELMEMEBEREIEZ  Alx"V'ER
BHEERBR f(n+1)x+f(n)o
flan x** = £(30)x+ f(29) =832040x + 514229
1+v5 1—v5

—_1 (L = N R PR G 1
= = — ) "l
1 1+°5 29 1—_”5 29

+_._' _— —_— P
e

REERS—-REEWE { (n+2)=af (n+1)+bf(n) B f(n) 7
Ax —ax+bWH-BERER E—HERTHNRHED
s f(n+3)=af(n+2)+bf(n+1)+cf(n)

BTE#ExX =ax"+bx+cH=RBBEETR » EHL f(n+3)
=(a+b+c)f(n+2)—(ab+bc+ca) f(n+1)+abcf(n)fXE
f(n+3)=af (n+2)+bf(n+l)+cf(n) HEUE_-—BRREHR—K
B ABE—RBERRE ETEEEMER L RFEBRFELFTED
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-2
CEEA] f(n) R f{(n+3)=(at+b+c)f(n+2)— (ab+bc+ca)
f(nt1)+abcf(n) » BE£(0)=p » £(1)=q> £(2)
—r s Bl f(n)=xa"+yb " +zc"» (x2y°z ) HEREx+y
+z=psax+by+cz=q a’x+b’y+ciz=7o
CEHI (i) n= 3K
f(3)=(a+b+c)f(2)—(ab+bc+ca) f(1)
+ abcf (0) /
= r(a+b+c)—q(ab+bc+ca )+ pabc
xa’ +yb’ +zc* = (a’x+b’y+c’z) (a+b+c)
—(a’bx+a’cx+b’cytab’y+ac’z+bc’z)
+abc ( x+y+z )—abc ( x+y+z)
= (a’x+b’y+c’z) (atb+c)
— [ ax ( ab+bc+ca )+by ( ab+bec+ca)
+ cz (ab+bc+ca)) +abe ( x+y+z)
= (a’x+b’y+c’z) (a+b+c)
— (ax+by+cz ) (ab+bc+ca)
+ abec (x+y+z)
= r(a+b+c)—q(ab+bc+tca)+4pabe
‘ = f(3) R
(ii)#n=314 55, » k—2rk—1 2k B BT
Bl f(n)=xea®+yeb®+zec > n=3 24 555 e )
k—2+k—1 2k
Bl n=%k+ 1k
f(k+1)=(a+b+c)f(k)—(ab+bectca)f(k—1)
' + abcf(k—2)
= (a+b+c) (xa“+yb*+zc*)
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— (ab+bc+ca) (xa*~'+yb*~*4zc )
+ abc (xa“~*+yb*~*+zc*"*)
= xa“t' '+ yb** '+ zc* '+ yab*+zac*+ xa“c
+ zbc*+xa* c+yb*c—xa*b—yab*—zac*
— xakp—zbc*—xa“c—yb*c—xa"~'bc —yab*'c
— zabc*~'+xa*"'bc+yab*~'c+zabcr !
= xa" P +yb T tzc T KT
i (i) (ii) B&

ERMEZETHWRE f(nt+2)=af (n+1)+bf(n) & f(n+3)=
(a+b+c) f(n+2)—(ab+bct+ca)f(n+1)+abcf(n)FmEBEF| f(n)
FEUBRRER  RERMEEWE { (n+k)=L.f (nt+k—1)+
Hheal k2 J+Ls £{ mt-k—F Jeserinres +Lef(n) 5 f(n) BIIREHLE
FREARERULBAREE ( {(n) THHFBER x"=Lx"~" +Lx""*
+Lex* "+ L BHBERER? EEEREENH  TBE Kk X— K
A EEMFERBEY GFTEABEREER AAEHEFEM 9B
TIHBERE - ELERABERHEE { (n+3 )=af (n+2)+bf (n+1)
+cf(n) BEET o

ANARBERBELMEY , BHEH -
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The Algorithm For Solving

The Mixed Integer
Programming problem

EEEE : REERE =0 TEHG M. Guu)

The mixed integer programming problem can be witten as :

Max Z=_c“—xx
Ax=T"
et B (1)
x>0

X ]IltegeI"jEI

n

where X € Rm+ » and A is a (ni+n ) Xm matrix. Thus, the set
I consits of the subscripts corresponding to those variables reguired to‘be
integer- 2F I =¢ » then (1)is caled linear programming problem. I1F I
={ 1, 2, m-+n } » then (1)is called the pure integer programm-
ing problem.
Moreover, we let B be the basic matrix of A and N be the nonbasic

matrix of A-; the corresporeling basic. variables and nonbasic variables are
X and Xy ¢ respectively.

Then the objective function can be written as :

i

N — e =% "X, N —_— S
Z=CH+X =L G IC=2J1=T0F% +C. X, D)
Xy

082.



the explicit constraints also can be written as :

[B,Nj(;‘_‘:j=_b‘,and then BX, + NX, =b )
N
From (3) we have :

—_ -1 =N -l — -1 -] =N

Xg +B NXy=B b » and+ hen X;= B b —B NXy (4)

From (2) and (4) » we have :

1

Z2=CL B o+ (Ci—Trh X, ®)

Therefore (1) can be rewritten as :

Z C.B—'b CL B 'N—-CE. =
=L " ci~¢ " o = (6)
Xz B b B—'N
X5, Xgu Y10
= | Xys i : Y20
Now we letXBz : 2 N = ’ B‘lb —
Xom Xyn Ymo
Yis  Yie oo Yin
y Vgq veeeer Vs s -
B~“N=| ;& & 1 » C; B" b=1C( y,) » and

y;nu YI:Ill """ y:mn
Ch BN —CL =L ¥yu.b ¥ya 2o D Viont)

Then (6) can be written as :
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/YOo\[ \ZK IR TIEEERCEERTRE ynnw
Yio Voar o creeeeeesees Yin Xini 2
\ymo \ym] csesesarenne Ymn/ \XN,‘/
Yoo /YOl Vo 2 coeceroneces yon\
Y 10 Yyu y iz *Via
® + . . P

[ K]

[~ Xinin))

—X e

_XNn
SN 7

(7)

(7) Can be represented in the following Simplex tableau as

follows:
1 —
z Yoo
XsB1 Yy 10

X8 m Ymo
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(A) The Simplex Algorithm: (for solving linear programming

Step 1.

Step 2.

Step 3.

Step 4.

(B) The Dual

Step 1.

Step 2.

problems)

Choose a basic feasible solution and write the cor-
respording simplex tableau. If Yois Yoz peeeee: » Yoo =0
Then the current solutions are optimal srlutions,
and then halt. else go to step 2.
Choose a non-basic variable and convert it into be
a basic variable. The rule here js: it MIN

{ YoisYozyeeeee “s Yoo } =Yo; Convert Xnj into a
basic variable.
Choose a basic variable and convert it to be a

nonbasi variable. The rule here is: if

yDD .
MIN{——y,; >0, p=1,2 , ,m} =

Yoi Yoi

Yio

the exchange Index Biand Index Nj.
Now we have found the pivotal element Yii Apply
the Gauss-Jordan elimination techmigue to find

another new simplex tableau. Go To step 1.

Simplex Algorithm: (for solving linear programming
problems)
Find a basic feasible solution and write the corr-
esponding simplex tableau. If yo1,Yoz s " s Yo =0
& Y10 s Y20 5 veveee s Ymo =0 then the current

solutions are optimal solutions and then stop else

Pl Yor geeeees » Yoa =0 but at least one term of
V1o s Y20 sveceee s Va0 is negative, trun go
to step 2.

Choose a basic variable and convert it to be a aon-

basic veriable. The rule is: min

. 85 L]



{ Yios Y20 goreee s Ymo} =yio @and then convert
to be a nonbasic variable.
Step 3. Choosenonbasic variable and convert it to be a basic
variable. The rule here is: If we have decided
to become a nonbasic variable, then

Yii
Y

. Yo
min { |— Yie<0,p=1,-- -, 0} =

Y!v

and we want to convert Xw~; to be a nonbasic vari-
able.
Step 4. Let y;; be the pivotal element and apply.the Gauss-
Jordan technigues to find a new simple tableau. go

to step 1.

(C) Gomory's mixed integer programming'algorithm.

Suppose, now, that we have solved the related LP problem
and the rth basiec variable is not an integer, but is re-
guired to be an integer, Then, by(8), we can write:

XB"=yro—(Yr1an+ """ +yr.,an)=y,.,— Eyl-jXNj
i=1
Let Wro denote the integral part of yro and fro denote the
nonnegative decimal part of yro ie. yro=Wro+fro, where

0 < fro<l ,thus we have:

j=

‘n
XBr =Wro + ro—zy,;xm
1
n
= XBr—Wro= 0— X Veini €E{ 09F1 942 seemenes }
i=1

Let N+:{j|yrj>0’j:]_’2, ...... ,"},
N-:{jlyrj<0!j:19 ------ ’l}
() Suppose that _z_lyrijj>0 » then f,o_'z Sl ol el
il i=1
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n
thus fro < jElyrixNi :;ZN"y” xNj +jZN Yri XN

hence f, o< X ROELT
i N

(II) Suppose that

J

_lyrijj<0 » then fro— 2 yrjaw;jE{ 1,2, 3 . eeeee }
= i=1
Hance fro _Elyri Xy =1 :>jZN+y,,- N +jEN_ yrizng < fro—1

Z_yan Sfro—12—2 yyxy 21— fro
jeN jen

jeN 1—fr0
This implies

ro0
Z_( ) | yri | 2w > fro
JEN 1 _fro

Z |yl 2n >1—fro s (10 )ZN"Iy'rille>fro
i

From (I),(II) We conclude that :

fl’ﬂ
2 Veixn; + 3 —

jENT
i €EN 1-f,,

Yeilxng 2 £, (9)

Now, we have obtained (9), called cutting plane constraints.
With the help of (9), We could obtain a new optimal solution

which is more near or exactly to be an intrger.
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Example.

Consider the following diet problem.

Suppose a house-

-wife plans to distribute the following six kinds of vegetab-

les in order to obtain the sufficient alimentations subject

to the money inva week as fewer as possible.

‘contained in each vegetables are as fallous:

For each Person:

The elements

per week

vitamin | vitamin| nicotinic

Iron | phosphorus A C acid $(Cent)
green bean 0.45 10 415 8 0.30 5 A
Carrot 0.45 28 9065 3 0.35 5
Cabage 1.05 50 2550 53 0.60 8
mus tard 0.40 25 75 27 0.15 2
beet 0.50 22 15 5 0.25 6
potato 0.50 7.5 235 8 0.80 3
For each person
iat least amount |6.00mg 325 mg | 17500usp | 245mg 5.00mg

Assumed that .in each week, the mustard can not be dist-

ributed more than twice and other vegetables can't be distr-

ibuted more than four times.

088n
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times in a week. Then each vegetable, should be distributed
how many times in next week so that money as fewer as possible?
Let X: be the times of distribution for green bean.

X2 Dbe the times of distribution for carrot.

X, be the times of distribution for cabage

X, be the times of distribution for mustard

X, be the times of distribution for beet

X6 be the toues of distribution for potato.

Then we want to find the minimumvalue of

z=5X1+5X2+8X3+2X4+6X5+3xs , which is restricted by
0.45%1+0.45%2+1.05x5+0.40%x4+0.50x5+0.50xs > 6.00
10x14+28x :+50X s+25x 4+ +22x5+75%s > 325
415x1+9065% 2 +2550% s +75% ++25%5+235%6 > 17500

8%x1+3x2453x3+27x4+5x5+8x¢ > 245

0.3x1+0:35%240.6%x35+0.15%4+0.25%x5+0.8%¢ > 5
0.3x1+0.35%x2+0.6%x3+0.15%4+0.25%5+0 .8%¢, < 2
X1 <4
X2 <4
b & <4
X5 <4
Xe <4

X1+X24K3 X +Xs+x6 = 14

xie-2and x; 20 :=1,2,3,4,5,6
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‘Tke folloumg computer programming'is desiged for

solving the Linear programming problem in form of:

n
min z = Cixi

i=1

N

A <b

Ny

=0

If we want to salve integer proframing, we should

put "3" into variable" Form(3)'" in computer programing

Tableau 22 bas attended, the integer-form
From tableauA22, We know:

The minimum total money for each porson in a week is 65 cents.
Remark: The basic variable 13 ih the current tableau is negative.
9t is generated by truncate-error we can accept it!
Acknowledgments are dve to my Teacher, Professor Wu.
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Tableau 10 has reached in the stoge of optimality. But .variabe 2,3
are not integer. Thus we have to generate 2 new constﬁaints by

usig cutting plane subroutine.

,,,,,, ; z
NTE 78 - 80 ~195 . &
7y Fy TN e T L Y F B4 -foe ¥
YR Syl =L EG,T 50 =2580,007 “1%54000 =235,005
_»ll».’! 1 i< T IPY ¢ B4 =JelL TV
Y1101 ] -6 Yy -80400%
35 2EUET ' O 0 0 1273 e
L GIE R el 0 1! L ¥y e . e
il . il o U0 0 e < e . e
WReIT0 ol 1 . g O Ne
et Hat 0 . = 3 S o e
NB(17)Y 24000 1 e 2 e Ve e 14500
AENI XL L YUY e 23 1 e UTT TeuJ
MR ~l44000 ¥ 1. 01y “1e067 16132
Ve b4 1TleCt 1 = e - 0] "ieY
YEEPIVY T 245 0 04" ¥6 - ~3.3986 -~ ei43 =0e:85
e L i o = e e e e Y65
— == 12 t =Y =¥ =X =X =¥
745 =Ae BN 3 9. 54079 1o 2% 1 Se I
VR T S513e127 o =84 492y, ~39.628 =47,924
t ¥ 5 =% elD™ L o g
XBC 701 : 1e0C2
=t =257 =495
XP(1:)1 =20 ,942 =14,712 ~24 4942
= v Ie . ol . Te . e
¥E 01399 4o0GLS Y U Ca Ne
< T ¥ rT MR H DR e UUZ L4 -
YRI5 ! Lo0Ly ! La Ga i e Te O
o8 75 G0t 0 = O T s e
YEC1T ¥ 440001 0 0. . 1432¢
= Bag B o e o6t Ty =93 998 07 TS
¥Re1sy =12.067 1V ~14719 =04392 ~-e998 ~0.974
LR o gt v Lelhy =T e I3 e 2 UT
NIFECET DY ! -3,49 -0,085 -l e143
_ Tl Degazae o . e 2
ARLAASTRE S 3 0* AR J =S o = Sy s i AL IS et U &% Jr= THSEIH



1e260

Yegea 2 1 = a(liC “0et 00
ey
~0e 1 5D

i

XBGD 5N s

e 2o e e o e 2 e e n

o0 B & o
L e s 0 T
vae17) Ge0 s 1 5 .
3 5t 77 1o e
Yacieyy e 172 8 o12¢
eyt =T ’ T
A XEC21 Ve 4 edza 0 ofidl
— FHE— P A S S SN TNt S Y= o
14 ! At o e e
>t t ST T — o7 875 Vel T
xa( 4yt ' ,7+902 c=3e033 1413C 0520
t v 2R o TS et =Uel "
VEL 291 ' 2259 0.000 “0.010 9,54
B B T el U T R ol | S TBeodt ¥ 1Y
NEC s ! e 2h0 DeG56 4105 ~0e215
b L 3 14 S TeUl Ue i 2D =TelOU =T .
¥ae1Ey ! . . LI B Je
T Teull wive £
XR(15)Y ! Ca . U Qe s
o mAs o o O Tooh e
YE(17)! ! -l o212 -5e10% Cel16
= ¥ ’ LR 3225 B
YRE19) ! a7 0225 Je004%
¢ > e 15997 =0eTIT =
v o006 -1.038 94002
o FH= e G526 :
Wt
15 22 ; -t =X~ =X=3 =X 7 =% =X12

: > 2wonk Tt 1165 JIU59 3057
yB(C 4)! 2 Uelnt Ul S e Ne : U
AT L | oA R I Ce-LH Iy DN e gL
X8 21 } - 022 = el I Ne ‘=0e025-
BT i \E % s3] U i52 REPeL]
Yee )t A k iDL D000 ~040i20 "
X8ty S e g ¢ LIoary: yapt Te0TF bl KT
XBC12? . 4.0G9 ¢ pars i) G Ge T e
et R o 5 e s 232 =05 0T =0eo 1S
= ¥BC15)!? 4.00n 1 . Te '1.00¢C e Ne
Bt 4000t Te T Uy T 00T EY
XE€17)! =448R%5 1 =0 20 =1.8921 0ei20 =1.G622 2811
XBrat e ye—t R 3 T =le123 =020 =002 =020
XRCT2% =1.432 ! i Y I i "=Cel 20 10123 =06020 -0002 0221
Rtenrt TSt T T T A oRs XS =Teus’l TeUFD *=0e 737
XB(21)! ~1.408 = o069 =De0 0N =0 0332 =Ce002 ~0e057 0e017
— P T A SR TR TR M A TSt 554 I7-LTE



17

=il og !
Y] 2e07¢ v
| e 5 =
YEe SN ! = ~de” il Fie NI -0ebs8 vat gfh3R
T T =Tedt7 Te T T Ter T
FECG LYY i =3 =0 0011 =157 16581 =
ot ' LT =l =1+ T5% =3%e 118 =Noe 812
VIRG= L 1 a0 Je Te Ne e
Ay H -k @& Ve 1. . o We il h ™ ver Jv
¥ S )Y ! o S =ift g% #Hly -34377 =L 6179
e Rie 0 O O [RRY e
P A & H - 998 0sd Go ¢ DeBUT o551 10559
2 O 7 U T R ) bR =0t 23
Sl S - e ity £ - -1e837 -1 ¢458 Ne128
" T T O e e - =1Te53 “huelTn ]
Y Y = 5347 8 - WJ0e! S T - =025 =+ =~fielll =Uel 74
—= FH+ S R e fr—2 Hart Bty 2V = -7

T ey t s SRR ChrE R T e AT =OeT ¥
‘ v Tek™9 0 = ~te” T o717 =9 -iel8e et 33

L IZATEE 7 0 0 v Ts PRI tes -
(A & @y &2 Ok C N = gkl =G 5 =T e55E Do 200

3 7 e * sUC ol D P TeEoT TRETT (R R R
LIS ~teRE= 1 -, $fio" =il 2 =T 24 <6 o 45 -1 o420 6116
R B Al z R e ) LT g =TOen T =N Te.b1 =2owa T
SRl e ! = gl -y, - W01 “Ceuus -vel02 7176

{E DT 0 I B 3 o o= - e 2 A ES— Y tte—5r= ST



=== 1§ T =TT =7 =TT =X X% =1
4 “Heeleg ¥ PRLE S et WA T LY 22 e . Lel7H PR
TER 00 S0 o B0 -2.000 o0 =% Giirr 15
' S T T =TT TET BRI P
¥ el T & = a7 =gt 22 ot 18 (o2 HR
¢ BT L v - J Rt sTes®
4o ! = . Ve
St * =it 3 33 =He
- 5P “pefin -14%47 roh5n
o T =t
! ol | Wi 65
. “ Le,x
N Y L g, 17
— ¢ o 5 v
Y cel Tl 0 T
ye W ;5 el % 2 e
! ST -t -t o 0HE =5.%7%
=¥ TiTe T PAEDS -1 1T-7 INL LT\ . Jr Je 3

=gy

¥R (

e e e - - ey - - =t - ———

LE A3 L < T el "l'." G . i 4
XEC 2y l1e700 =% o T =™ TG
{7 W 0 e o : oL fall (T 0 7Y I
XBC¢ £)? 440u7 ! Ve
¥ttt 57t 3 SEERERU
X R( (‘l)! L0908 4452 P ~17% 4474 _/"'7"].14‘:2
J VIR T . - . 3 L
XRLLE )Y ! Gelgy Bel U0
J A - 8 . e
XBC¢ 1) ! . 1.
LR R e e
X'Feae )Y 1 Lel8H )
P o } TTs H o LULUT e A
YRLEL Y Y ' -7 o0t -le 43
S FHE-—PEVATAE EECHENT NP HAE TS ¥ ttsy 3= TS
21 ¥ =X17 =xT =YY =TT =X =XTT

b 2Y =65.000 1 aen gt Ts 10 2
YRE 438 2e0070 1 S0 =il 00
N o IETSO0TT ey R, b 8 G T
X RO 2ye Bl .0 = eyt < g Lo T 3
et s fe—t 00t o uo ST
XBC €)Y GodiT ! 1e000 Ca . Se
o Xt cZCe 0TV St el d. et v Lel 17 e 7T hRURE
B 9N 63715273 ? 21740 wkexerwFr kR 10T, 166274988 34+447.,317%
et ot 4 T (o2 T pa® o211
XB(15 le.000 1 =i Wkl 24%33 ~H133
¥RCHert Yo frot—t O O ety Te
B L) =Be003 1 =1 ¢! =" 82 - 93T =4 4830
== —X3-¢1 = s O 0 O o
XB(2s)! =-1640 kD = A =lel0Z -8:367
e t—7rt Ry T IS 00T o TR
XBR(13)1 ' Lelut a2 £e933 40958
— “FHE—PEFVOFAL PN UAE IS = B




¢¢cce  YAUR TASK IS MORMALY L%0FR 1 353>

Tableau 22 has attended, 'the integer-form.

From tabléau 22, We know:

The minimum total monéy for each person in a week is 65 cents.

Remark: The basic variable 13 in the current tableau is negative,

9t is generated by truncate-error. We can accept it!
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